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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 19298 3.6 1.2 5 71.4 99.8
2 19119 3.2 1.3 5 63 98.9
3 19028 5.2 2.4 10 51.9 98.4
4 17997 5 2.4 10 50.2 93.1
1 18307 15.2 5 30 50.7 94.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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SECTION A: 30 marks

Answer all the following questions.

On the opposite page is an internet article: ‘We must not ignore the plight of our farmers’, by Rowena 
Davies.

The separate Resource Material for use with Section A is a leaflet, ‘Save the Badger’.

Both texts are about badger culls. A cull is the killing of animals in order to control their numbers.

Read the internet article, ‘We must not ignore the plight of our farmers’ on the opposite page.

A1.	 (a)	 List three examples of the way Dave has been affected by badgers.	 [3]

	 (b)	 Give one piece of evidence that shows the problem with TB in cattle has become worse 
over the years.	 [1]

	 (c)	 According to Dave, why has the problem with badgers got worse?	 [1]

 
	

 
	

	 	
	 	 	

	

 CBAC Ltd.
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SECTION A: 30 marks

Answer all the following questions.

On the opposite page is an internet article: ‘We must not ignore the plight of our farmers’, by Rowena 
Davies.

The separate Resource Material for use with Section A is a leaflet, ‘Save the Badger’.

Both texts are about badger culls. A cull is the killing of animals in order to control their numbers.

	 	

	  

	 	

A2.	Apart from the problems caused by badgers, farming is still a hard and difficult job. List five 
details that show farming is both hard and difficult.	 [5]

 

	 	
	 	 	

	

 CBAC Ltd.
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SECTION A: 30 marks

Answer all the following questions.

On the opposite page is an internet article: ‘We must not ignore the plight of our farmers’, by Rowena 
Davies.

The separate Resource Material for use with Section A is a leaflet, ‘Save the Badger’.

Both texts are about badger culls. A cull is the killing of animals in order to control their numbers.

Now read the ‘Save the Badger’ leaflet in the separate Resource Material.

A3.	 The ‘Save the Badger’ leaflet tries to persuade readers to join the campaign against the badger 
cull. How does the leaflet do this?	 [10]

 CBAC Ltd.
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SECTION A: 30 marks

Answer all the following questions.

On the opposite page is an internet article: ‘We must not ignore the plight of our farmers’, by Rowena 
Davies.

The separate Resource Material for use with Section A is a leaflet, ‘Save the Badger’.

Both texts are about badger culls. A cull is the killing of animals in order to control their numbers.

You will now need to use both texts to answer the following question.

A4.	 Compare what the two texts say about:

• vaccinating badgers and cattle against TB;
• what scientists say about how to reduce the spread of TB. [10]

In your answer you must make it clear which texts you are referring to.

© WJEC CBAC Ltd.
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SECTION B:  30 marks

In this section you will be assessed for the quality of your writing skills.

Half of the marks are awarded for content and organisation; half of the marks are awarded
for sentence structure, punctuation and spelling.

Think about the purpose and audience for your writing.

You should aim to write about 350-500 words.

B1.	 Your school wants to raise money for charity.

You have the chance to speak in an assembly to persuade the school to support a charity of 
your choice. You could consider charities such as Oxfam, Children in Need or Save the Badger, 
but you may have an idea of your own.

You might consider:

• information about the charity;
• why it is a good charity to support;
• some ideas about how to raise the money;
• why students should get involved.

Write what you would say.	 [30]

The space below can be used to plan your work.

© WJEC CBAC Ltd.
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Section A (30 marks) 


Read the internet article, ‘We must not ignore the plight of our farmers’ on the 
opposite page. 


A1.    (a)   List three examples of the way Dave has been affected by badgers. [3] 


(b)   Give one piece of evidence that shows the problem with TB in cattle has 
become worse over the years. [1]


(c)   According to Dave, why has the problem with badgers become worse? [1] 


This question tests knowledge and use of text. 


(a)  Award one mark for each correct point, to a maximum of three: 


 won’t now give his real name in case he’s targeted by animal rights activists;


 he now has animals in his herd affected by TB;


 a member of his own family ‘came down’ with TB;


 he now has badgers on his land.


 (b)    Award one mark for any of the correct points below, to a maximum of one: 


 in 1998 fewer than 6000 cows killed because of TB; in 2011 figure had risen
to 34,000;


 Dave now has regular cases of TB in his herd;


 TB in cows has “increased dramatically” since 1992 / was under control in
1970s/1980s;


 TB in cattle has resulted in a decrease in the number of dairy farms.


(c)    Award one mark for either of the correct points below, to a maximum of one: 


 farmers are now not allowed to shoot badgers / badgers are now protected;


 their numbers have got out of control / numbers have “grown considerably”;


 badgers have no natural predators.
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Section A (30 marks) 


Read the internet article, ‘We must not ignore the plight of our farmers’ on the 
opposite page. 


A2. Apart from the problems caused by badgers, farming is still a hard and difficult 
job.  List five details that show farming is both hard and difficult. [5] 


This question tests knowledge and use of text 


Award one mark for each correct point below, to a maximum of five: 


 farmers work very long hours every day of the week;


 its ‘hands-on’ / intensive work – nursing them through birth / hand feeding when
sick;


 some farmers have gone out of business – 40% of dairy farms have stopped
farming;


 the money they receive from milk has been ‘slashed’;


 bad weather can make things worse for farmers;


 the price of grain has increased and has hit farmers hard.
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 Now read the ‘Save the Badger’ leaflet in the separate Resource Material. 
 


A3.   The ‘Save the Badger’ leaflet tries to persuade readers to join the campaign 
against the badger cull.  How does the leaflet do this? [10] 


 
This question tests knowledge and use of text but also rewards 
inference/interpretation and appreciation of language and stylistic features.  
 
0 marks – nothing worthy of credit.  
 
1-3 marks: Give 1 mark to candidates who struggle to engage with the text and/or 
question. Give 2-3, according to quality, to those who copy unselectively or make 
simple comments with occasional references to the text.  
 
Give 4-6 marks, according to quality, to those who make simple comments based on 
surface features of the text and/or show limited development.  These answers may be 
thin or tending to be unselective in their choice of textual material, or use unsupported/ 
inappropriate spotting of devices.  
 


 Give 7-10 marks, according to quality, to those who make valid comments based on a 
range of appropriate detail from the text. These answers will probably rely on spotting 
factual content.  Better answers may show some awareness of persuasive language 
and/or technique, although they may rely on some ‘spotting’ and listing of key words 
and phrases.  
 


 ‘How’ is partly a matter of content and partly a matter of style. 
 


 Some points that candidates may explore to show how the leaflet tries to persuade: 


 it sets out the aims of the website very clearly, giving a list of the way badgers are 
treated; 


 it calls the treatment ‘persecution’; 


 it is sarcastic about the use of the word ‘cull’ - “slaughter would be more 
appropriate”; 


 it refers to scientific studies that support their case against killing badgers; 


 the word ‘slaughter’ is emboldened for emphasis; and it goes on to say that 
culling will ‘not’ solve the problem of TB in cattle; 


 it talks of the successful campaign to abandon the cull in Wales; 


 it repeats the scientific argument (exterminating every badger will not get rid of TB 
in cows); 


 it reminds readers of the law that protects badgers; 


 it gives examples where culling has not stopped TB; 


 they talk of the organisation’s sympathy for farmers / concern for welfare of cows; 


 they argue that there are more effective ways of protecting cattle / vaccination 
more effective; 


 they explain what is needed for the long-term protection of animals; 


 they invite readers to contact them; 


 they use a supportive quotation from Sir David Attenborough, who is widely 
respected; 


 the photograph of the badger shows a beautiful wild animal; 


 the ‘Save the Badger’ logo repeats the ‘Stop the Slaughter’ message; 


 they conclude their campaign sheet with a short, punchy imperative. 
 


 
 This is not a checklist and the question must be marked in levels of response. Look for 


and reward valid alternatives. 
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You will now need to use both texts to answer the following question. 
 


A4.    Compare what the two texts say about: 


 vaccinating badgers and cattle against TB; 


 what scientists say about how to reduce the spread of TB. 
 


 In your answer you must make it clear which texts you are referring to.   [10] 
 


This question tests the ability to select material appropriate to purpose, to collate material 
from different sources and to make cross references. 


 


 0 marks: nothing worthy of credit 
 


1-3 marks: Give one mark to those who copy unselectively with little sense of the 
question. Give 2-3 marks to those who select some relevant details but fail to identify the 
writers/texts at all. 


 


Give 4-6 marks, according to quality, to those who identify the writers/texts in some way 
and see a limited range of points, showing at least some ability to make comparisons. 


 


Give 7-10 marks, according to quality, to those who clearly identify the texts/writers and 
see a range of valid points, organising the answer clearly and appropriately to collate 
material from different sources. Better answers should make comparisons and cross-
references.  


 


 Vaccinating badgers and cattle against TB 
  


 Save the Badger:        vaccinating badgers is now being tried in Ireland; 
       (leaflet) 


‘Save the Badger’ believe vaccination is more effective at getting 
rid of TB in cattle. 


 


Plight of farmers:          Animal rights groups and charities believe vaccines are the  
    answer; but there are no suitable vaccines for cows; 
     (Rowena  


          Davies)                           


NFU believe it is difficult to vaccinate badgers effectively / needs 
to be done once every four years; 


        
     it’s very expensive to vaccinate badgers. 


 


 What scientists say about how to reduce the spread of TB 
 


Save the Badger:      scientific studies have shown culling would be “of little help in  
        (leaflet)  reducing the disease”; 
                                        
    the studies suggest culling could make the problem worse; 
                                    
    scientists are convinced that even exterminating every badger 
    would not get rid of TB in cows; 


   


scientists are concerned that whole populations of healthy 
badgers could be wiped out by culling them. 
 


“Killing badgers is not the answer” – Sir David Attenborough 
 


Plight of farmers:         science suggests culling is effective; 
       (Rowena    
        Davies)                 because culling brought TB under control in the 1970s and 1980s. 


 


This is not a checklist and the question must be marked in levels of response. Look for 
and reward valid alternatives. 
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B1. Your school wants to raise money for charity. 
You have the chance to speak in an assembly to persuade the school to 
support a charity of your choice. You could consider charities such as Oxfam, 
Children in Need or Save the Badger, but you may have an idea of your own. 
 
You might consider: 


 information about the charity; 


 why it is a good charity to support; 


 some ideas about how to raise the money; 


 why students should get involved.  


 
Write what you would say. [30] 


 
 
Content and organisation (15 marks)  


 
0 marks: nothing worthy of credit  


 
 
 Band 1  1-5 marks 


 


 basic awareness of the purpose and format of the task 


 some awareness of the reader / intended audience 


 some relevant comment but analysis is basic  


 simple sequencing of ideas provides some coherence 


 paragraphs may be used to show obvious divisions or group ideas into some 
order 


 limited attempt to adapt style to purpose / audience (e.g. degree of formality) 


 there is a limited range of vocabulary with little variation of word choice for 
meaning or effect 


 
 


 Band 2 6-10 marks 
 


 shows awareness of the purpose and format of the task 


 shows awareness of the reader / intended audience 


 a sense of purpose shown in analysis / comment and some reasons are given 
in support of opinions and recommendations 


 sequencing of details and comments provides coherence 


 paragraphs are logically ordered and sequenced (e.g. topic sentences are 
supported by relevant detail) 


 a clear attempt to adapt style to purpose / audience  


 there is some range of vocabulary, occasionally selected to convey precise 
meaning or to create effect 


 
 


 Band 3 11-15 marks 
 


 shows clear understanding of the purpose and format of the task  


 shows clear awareness of the reader / intended audience 


 clear sense of purpose shown in analysis / comment; appropriate reasons given 
in support of opinions / ideas 


 ideas are shaped into coherent arguments 


 paragraphs or sections are used consciously to structure the writing 


 style is adapted to purpose / audience 


 there is a range of vocabulary selected to convey precise meaning or to create 
effect 
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Sentence structure, punctuation and spelling (15 marks)  
 


0 marks: nothing worthy of credit.  
 


  Band 1 1-5 marks 
  


 sentences are mostly simple or compound  


 compound sentences are linked or sequenced by conjunctions such as ‘and’ or ‘so’ 


 punctuation (full stops, commas, capital letters to demarcate sentences) is 
attempted where appropriate and with some accuracy 


 the spelling of simple words is usually accurate 


 control of tense and agreement is uneven 
 
 
  Band 2 6-10 marks 
 


 sentences are varied and both compound and complex sentences are used 


 there is use of some subordination to achieve clarity and economy 


 some control of a range of punctuation, including the punctuation of direct 
speech 


 the spelling of simple and polysyllabic words is usually accurate 


 control of tense and agreement is generally secure 
 
 
 Band 3 11-15 marks 
 


 a range of grammatical structures is used to vary the length and focus of 
sentences 


 simple, compound and complex sentences are used to achieve particular 
effects 


 a range of punctuation is used accurately to structure sentences and texts, 
sometimes to create deliberate effects, including parenthetic commas 


 most spelling, including that of irregular words, is usually correct 


 control of tense and agreement is secure 
 
 
 
 


 


 


 


 


 


 


 


 


 


 


 


It is presumed that candidates attaining Band 2 and above will have achieved 
the criteria listed in the previous band(s).  Fine tuning of the mark within a band 
will be made on the basis of a “best fit” procedure, weaknesses in some areas 
being compensated by strengths in others. 
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